Accel Pre-Calculus

2.05 Graphing Sine and Cosine- Phase Shift Notes

Fory = asin[b(0 — ¢)] + d or y = acos[b(6 —c)] +d '
Phase Shift- horizontal shift; ‘¢’ tells you the phase shift; direction is opposite of what you
think; you must factor out ‘b’ to see the phase shift!
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2.05 Practice: Graphmg Sine & Cosine W1th Amplitude, Period, and Phase Shift

O%) Write an equation of the sine function given the followmg 111format1on
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Tite an equation of the cosine functlon given the following mformatlon
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PS:

9) y = 6¢0s (%—%)
PS:

Amp: Per

11) y = —3 cos(3m0 + m)
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3-’ Write a sine equation and a cosine equation for each graph below:
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8) y = 2.5sin(f — m)
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12) y=sin (z-5)
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